P112
1-D Momentum Worksheet

1) A hockey puck, mass 0.12 Kg moving at 35 m/s, strikes an octopus thrown on the ice by a fan. The octopus has a mass of 0.28 kg. The puck and octopus slide off together. Find their common velocity. (10.5 m/s)
2) An 80 Kg hockey player skating at 6.0 m/s attempts to bring the puck in across the blue line. He is hit head on by a 90 Kg defenceman moving at 3.0 m/s. If they become entangled as one mass, with what velocity do they travel?

(1.24 m/s E)

3) A hard steel ball of unknown mass is hit head on by another steel ball of mass 2.0 kg moving to the right at 5.0 m/s.  The 2.0 kg ball rebounds with a velocity of 4.0 m/s and the stationary ball moves to the right at 2.0 m/s. What is the mass of this ball? (9.0 kg)

4) A 5000 kg truck travelling East at 9.0 m/s hits a 2000 kg car travelling West at 5.0 m/s.  If they become entangled as one mass, find their common velocity after the collision. (+5.0 m/s)

